Efficiency vs P,

70.07
o
9.009
>
2.008
@
2.007
(4]
0.006
0.005
0.004
0.003
0.002
0.001

Ratio

.................................................

.................................................

.................................................

.................................................

0

ey

R R L R R AR AR RN LR RR RNl RARRN RARRN LARLE RRRRN RRRR)
-

107 1 10 prT (Ge\})o3

—=— DQM_TT__mkFit-DQM_original-0
—e— DQM_TT__mkFit-DQM_original-127
—— DQM_TT__mkFit-DQM_mod-127

................................................

..............................................

............................

[y

[ —
3
— =
[
Ly
*
E—%
—%
E—
L : 3

o
©
a

[rrrrrrrrrTnm
N
o
=
N
w

Efficiency vs ¢

s-0.01g
@ :
§.009 ;
[&] .




	Contents
	Page 1


